1. Effectuer les calculs dans les cellules a fond bleu
2. Sauvegarder

A | B | C | D | E | F
1 CALCULER UNE VARIATION ((]D)]E]LTA))
2
3 X1 = 2021 % X2 = 2022 % Variation
4 TF1 143 16,19% 170 17,24% 18,88%
S France 2 158 17,89% 181 18,36% 14,56%
6 France 3 205 23,22% 210 21,30% 2,44%
7 CANAL + 317 35,90% 352 35,70% 11,04%
8 ARTE 30 3,40% 38 3,85% 26,67%
9 M6 30 3,40% 35 3,55% 16,67%
10 TOTAL 883 100,00% 986 100,00% 11,66%
1
12 |Calcul d'une variationV: V=(X2-X1)/X1
13
14 |0u: X1 = année de base (N)
15 X2 = année N+1
16
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